L7 |BB890812 PRENSA CABO M16X1,5 7
LT |B260015 PORCA DOIN 934 M8 L
L0 1B751203 CONEXAO RETA MICRO INS1/8 BSPT-T TO6 10U 1
39 |B750567 ETIQUETA ON/OFF 30X720X0,86MM 1
38 |B750603 CABO DE FORCA 3X0,75 18 MT 1800 1
37 |B750906 CABO 4GZ250MM PUR OLFLEX SERVO FD 780 P 1
36 |B751360 PLUG MACHO CHATO MAR-GIRIUS PLD1-3 2P 10A 1
35 |B751435 MESA CENTRALIZADORA PINTADA 1
34 |BZ220690 PARAFUSO DIN 912 M 4X172 7/ B L
33 |B2607275 PORCA DOIN 934 M6 /B L
37 |B2720009 PARAFUSO DIN 912 M5x16 129 /
31 |B221067 PARAFUSO DIN 912 M 5X 10 /B L
30 |B260054 PORCA DIN 934 M5 /
29 |B220L90 PARAFUSO DIN 912 ML4X10 /B L
28 |B750060 PARAFUSO DIN 963 MLX8 LATAQ 8
27 |B220093 PARAFUSO DIN 914 M5x6 88 3
26 |BZ220L97 PARAFUSO DIN 912 M8X16 /B L
25 |B750947 UNIAO T MICRO TUBO D8 10UV 1
2L |B75094L  |CONEXAO RETA MICRO INS 1/8 BSPT-T TD8 10U 3
23 |B750997 BUJAD 1/8 LATAO LUB-3 1
27 |B22071k PARAFUSO DIN 912 M5X40 /B L
21 1B750993 PE NIVELADOR PN - 3013 M6x30 L
20 |B750988 LAMPADA ECONOMICA ESPIRAL 15W220V ECP 1
19 1B750987 CHAVE BIPOLAR ALAVANCA 15/20 AMP - JOANING 1
18 |B750977 VIDRO DO GABARITO 1
17 1B750989 SOUUETE PORCELANA E/Z27 €/ BASE DECORLUX 1
16 |B750965 CABO ALCA DE NYLON CAP 133 /
15 |1B751205 VALVULA MV 3/7 1/8 COMANDO BOTAO PUSH-PULL 1
14 1B910577 FJETOR BASICO SBP 15 S22 SOA 1
13 |1B750871 TAMPA DB FECHAMENTO MESA CENTRALIZADORA 1
17 1B750869 REGUA LATERAL 1
1 |B750868 REGUA CENTRAL 1
10 1B750994 MANIPLO TERMOPL MACHO 3577 6
9 |B750877 MANIPULO DA MESA CENTRALIZADORA 1
8 |B750879 CANTONEIRA DB REGULAGEM 1
7 |B750881 MANCAL DE FIXACAO DA CANTONEIRA /
6 |B750878 MANCAL DE ENCOSTO DA MESA CENTRALIZADORA 7
5 |B750875 MANCAL DA GUIA CENTRAL /
L |B750874 GUIA CENTRAL 5mm 7
3 |B/50873 GUIA REGULAVEL 03mm /
7 |B750880 EIXO DA MESA CENTRALIZADORA 1
T |B750876 MANCAL LATERAL /
ITEM|CODIGO DESCRICAQ ary

Aé]‘

[tem

at.

Denominacao

Peso mat.: Cod.Almo.

Material

Des.:

Shuttlefon

Escalas 1 5

Tratamentos:

Conf.:  WILIAM

Folhas 1 DE 2

Ang projecdo

= &

Data TaBra.  03-09-2010

Data TuD

Pro_jetos

Peso Final:

Kg

=] o lal o ™ —- | o -

Cotas sem

tolerancia
usar Norma
NBR 2768-mk

Desenho TuBra

C270117

Des TuD | Num Obj

SADTLT

4'-"
1L-04-21| WILIAM TUNKERS®

o
IS

e
m
<

Alfteracao

Data Nome

Maschinenbau
GmbH

Denominacao

GABARITO GMCD

Rev(1




